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Unicus Mathematics Olympiad (UMO)

1. Look at the numbers which are given below:
89, 107, 150, 101, 99, 138

Find the smallest and largest number:
a) Largest number = 89, Smallest number = 150
b) Largest number = 99, Smallest number = 138

c) Largest number = 150, Smallest number = 89
d) Largest number = 138, Smallest number = 89

Correct Answer: c 1 Mark

2. In figure (a) there are 35 oranges inside the basket and in figure (b) there are 15
oranges inside the basket. If oranges in both the baskets are counted together, then
find the answer:

()
a) Six tens b) Five tens
c¢) Four tens d) Three tens
Correct Answer: b 1 Mark

3. Kashish wants to buy a bottle and the cost of bottle is Rs. 200. How many 20 rupees
note is required to buy this bottle?

a) 20 b) 15
c) 10 d)5

Correct Answer: ¢ 1 Mark
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4. Look at the images given below. Which of the following options is not correct?

l I, 3 |
P ' Q R s
a)s b) R
c)Q dP
Correct Answer: a 1 Mark

5. Which of the following is not a correct match?

a) 102 — One hundred and two b) 50 - Fifty
c) 89 — Seventy-nine d) 36 — Thirty-six
Correct Answer: ¢ 1 Mark

6. Which of the following straight lines are slanting?

a) ——m b)
e
c) d)

Correct Answer: d 1 Mark
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7. Look at the image given below and choose the correct option:

‘Watermelon

a) Apple is heavier than watermelon.
b) Watermelon is heavier than apple.
c) Both are equal in weight.

d) None of these

Correct Answer: b 1 Mark

8. Which of the following options looks like a cone?

b)

SN—

Correct Answer: a 1 Mark
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9. Choose the correct time as shown in the clock given below:

BT
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<7 8 55
a) 2:10 b) 10:10
c) 2:50 d) 10:11
Correct Answer: d 2 Marks

10. The length of a park is 8 m more than its breadth. The breadth of the park is 28 m. Find
the length of the park:

Length

Breadth

a)8m b) 20 m
c)28m d) 36 m
Correct Answer: d 2 Marks




